

$$y = p x^2 + q x + r$$

$$\sum (a, A), (b, B), (c, C) \text{ である } \Rightarrow = \text{である}$$

$$\begin{cases} p a^2 + q a + r = A \\ p b^2 + q b + r = B \\ p c^2 + q c + r = C \end{cases}$$

である。

$$\begin{pmatrix} a^2 & a & 1 \\ b^2 & b & 1 \\ c^2 & c & 1 \end{pmatrix} \begin{pmatrix} p \\ q \\ r \end{pmatrix} = \begin{pmatrix} A \\ B \\ C \end{pmatrix}$$

である

$$D = \begin{vmatrix} a^2 & a & 1 \\ b^2 & b & 1 \\ c^2 & c & 1 \end{vmatrix} = \begin{vmatrix} a^2 & a & 1 \\ b^2 - a^2 & b - a & 0 \\ c^2 - a^2 & c - a & 0 \end{vmatrix} = \begin{vmatrix} b^2 - a^2 & b - a \\ c^2 - a^2 & c - a \end{vmatrix}$$

$$= (b - a)(c - a) \begin{vmatrix} b + a & 1 \\ c + a & 1 \end{vmatrix}$$

$$= (b - a)(c - a)(b - c)$$

$$= -(a - b)(b - c)(c - a) \neq 0$$

F) の x - 10 である $\{ \mathbb{R} \}$ の \mathbb{R}

$$p = \frac{1}{D} \begin{vmatrix} A & a & 1 \\ B & b & 1 \\ C & c & 1 \end{vmatrix}, \quad q = \frac{1}{D} \begin{vmatrix} a^2 & A & 1 \\ b^2 & B & 1 \\ c^2 & C & 1 \end{vmatrix}, \quad r = \frac{1}{D} \begin{vmatrix} a^2 & a & A \\ b^2 & b & B \\ c^2 & c & C \end{vmatrix}$$

である

$$y = \frac{1}{D} \begin{vmatrix} A & a & 1 \\ B & b & 1 \\ C & c & 1 \end{vmatrix} x^2 + \frac{1}{D} \begin{vmatrix} a^2 & A & 1 \\ b^2 & B & 1 \\ c^2 & C & 1 \end{vmatrix} x + \frac{1}{D} \begin{vmatrix} a^2 & a & A \\ b^2 & b & B \\ c^2 & c & C \end{vmatrix}$$

$$= \frac{A}{D} \left| \begin{array}{c} e \\ c \end{array} \right| x^2 - \frac{A}{D} \left| \begin{array}{c} e^2 \\ c^2 \end{array} \right| x + \frac{A}{D} \left| \begin{array}{c} e^2 e \\ c^2 c \end{array} \right|$$

$$- \frac{B}{D} \left| \begin{array}{c} a \\ c \end{array} \right| x^2 + \frac{B}{D} \left| \begin{array}{c} a^2 \\ c^2 \end{array} \right| x - \frac{B}{D} \left| \begin{array}{c} a^2 a \\ c^2 c \end{array} \right|$$

$$+ \frac{C}{D} \left| \begin{array}{c} a \\ e \end{array} \right| x^2 - \frac{C}{D} \left| \begin{array}{c} a^2 \\ e^2 \end{array} \right| x + \frac{C}{D} \left| \begin{array}{c} a^2 a \\ e^2 e \end{array} \right|$$

$$= \frac{A}{D} \left((e-c)x^2 - (e^2-c^2)x + \frac{A}{D} ec(e-c) \right)$$

$$+ \frac{B}{D} \left((c-a)x^2 - (c^2-a^2)x + ac(c-a) \right)$$

$$+ \frac{C}{D} \left((a-e)x^2 - (a^2-e^2)x + ae(a-e) \right)$$

$$= A \frac{x^2 - (e+c)x + ec}{(a-e)(a-c)}$$

$$+ B \frac{x^2 - (a+c)x + ac}{(e-a)(e-c)}$$

$$+ C \frac{x^2 - (a+e)x + ae}{(c-a)(c-e)}$$

$$= A \frac{(x-e)(x-c)}{(a-e)(a-c)} + B \frac{(x-a)(x-c)}{(e-a)(e-c)}$$

$$+ C \frac{(x-a)(x-e)}{(c-a)(c-e)}$$